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Correction Of The Second Ter En lLishExa

PART ONE

e [/Comprehention/interpretation:
The passage is a report(0.5pt)
True or false :(1.5pt)
a/ true
b/ true
¢/ true

Full answers:(03pts)

a/ parents wanted to abandon their cigarettes in a new year.

b/ the youngsters want their parents to extinguish their cigarettes.

¢/ the teenagers feel to be given more responsibility by their parents.

e 2/text exploration:
Synonyms(02pts)
Impatient=eager
Stop=Give up
Stub out=Extinguish

Children=Youngsters

Complete this table:(02pts)

noun Adjective
Help Helpful
Hardness Hard
Beauty Beautiful
Smoke Smoked

Rewrite the sentences into reported speech:(05pts)

-he said that I could take part in the survey.

-he questioned if I was against my parents smoking.

-he asked when I had decided to discuss with them.

-He begged him to stop polluting the atmosphere.
-he ordered to let him go out with his friend.
Stress the following words:(02pts)

A 'tomic — Dra’matic — Reso 'lution — Ex ’tension

Written expression: (04pts)
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